CHEM 7 GASES

Example-1
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What is the volume ocgupied by 13.7 g Cl, (g) at 45°C and 745 mmHg?
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(Cl,: 71 g/mol)
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Example-2

How many moles of He(g) are in a 5.00 L storage tank filled with helium at 10.5 atm
pressure at 30°C?
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A glass vessel weighs 40.1305 g when clean, dry, and evacuated; it weighs 138.2410 g
when filled with water at 25°C (density of water = 0.9970 g/mL) and 40.2959 g when filled
with propylene gas at 740.3 mmHg and 24°C. What is the molar mass of propylene?
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Example-4

+ What is the density of oxygen gas (O,) at 298 K and 0.987 atm?
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(O,: 32 g/mol)

d= ?
4ﬂr_=_3L&Lml - ( i

( d= Mv P\

T- 298 kK ¥ Q RT )
N ____—

P: Q.qgl .L‘M‘.'/

L0082 +
d. 3L xRo-WBL
- = .29 gim

°'°8L' X 7-15 a—




Example-5 (Gases in chemical reactions)

What volume of N,, measured at 735 mmHg and 26 °C, is produced when 75.0 g NaNj; is decomposed?

v oA X 2 NaNs(s) — 2Na(l) + 3Na(g
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Example-6
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What is the pressure, in bar, exerted by a mixture of 1.0 g H, and 5.00 g He when the
mixture is confined to a volume of 5.0 L at 20°C? m—— —

(H,: 2 g/mol, He: 4 g/mol)
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